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CRIMINOLOGY
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  Who among the following is not associated with Positive School of Criminology ?
(A) Cesare Lombroso (B) Jeremy Bentham
(C) Enrico Ferri (D) Raffalo Garofalo
2. The concept ‘criminal saturation’ was coined by :
(A) Enrico Ferri (B) Cesare Lombroso
(C) Albert Cohen (D) David Matza

3.  The book “Street Corner Society” is authored by :

(A) Frederic M. Thrasher (B) William. F. White
(C) John M. Hagedorn (D) J. David Hawkins
4.  Who among the following argued that ‘conduct norms’ should be given more emphasis
in defining crime ?
(A) Marwin Wolfgang (B) Thorsten Sellin
(C) Albert Cohen (D) AM. Guerry
5.  Point out the odd man :
(A) Stratified sampling (B) Quota sampling
(C) Purposive sampling (D) Random sampling
6.  An offence for which a Police Officer can arrest a person without a warrant is :
(A) Victimless offence (B) Non-bailable offence
(C) Cognizable offence (D) Non-cognizable offence
7.  Thesystem under which the accused is presumed guilty and he must prove his innocence
is known as :
(A) Victim Justice System (B) Criminal Justice System
(C) Inquisitorial System (D) Adversary System
8. Paroleis:
(A) Conditional release (B) Suspended sentence
(C) Intensive supervision (D) Rigorous Imprisonment
9.  Who among the following proposed the concept of “prisonization’ to explain the formation
of inmate subculture ?
(A) Donald Crezzey (B) Donald Clemmer
(C) John Cohen (D) Albert Cohen

D —6808 2



JTULITTE
EERCER ||
Me: U YETA # U= (50) T5-fahedE UoH €1 YIS U 6 oY (2) 31k &1 |t yeHi % W
HiEL

1. = H 9 S Ay U F TR TS 9 Heifid TE 82
(A) HSREwE  (B) S O (C) THARER & (D) Tl TRl

2. oYUt GgHar’ ot STIHRON WeHd: S g & TR |
(A) THRER HH (B) HWSREWIE — (C) 39 A (D) <afe HesT

3. ‘i wMR gEEd’ ive 5 % e © |
(A) el TH.IR (B) faferam T, =5e
(C) <M TH. ISeH (D) ™ efore gl

4. T 9 fFum 78 9 wga foRan T stumy &t 9w o # SR dfear R i s <
e ?
(A) wfeH qewiT  (B) O Hfed (C) 3¥fegae ®IEA (D) T WA T

5. T 1em-gem JdEd |

(A) wafa duafem (B) Il (FTeT) Jrafei
(C) wrewa Jwfe (D) ez dwafan
6. Yform Afuepit =i o fo| Ty & o fomT A= o fIRWR 2 Tehat € 9% i fae
3T T
(A) STIUH (B) 31-SHMM STqUY
(C) T Ay (D) -G& TqH

7. SH UG 0 hed ¢ s sfaria erfiees w1 St | St S eran el faea e #)

(A) Scfifed = wgfa (B) AUy = TG
(C) BN HT & Igha (D) forusft ugfa

8. WaRI
(A) ¥ @R (B) Treified derw
(C) TT&T qHeE (D) SR HREAH

9. TraAfafed § 9 foeam, SREATEE &l 3 GEhd & TS &l WY H & (o) T S1Taaq
1 TR JEATfd i ?
(A) ErcE shelt (B) TrcE FITR (C) S sl (D) STATS HIe

D —6808 3 P.T.O.



10.

11.

12.

13.

14.

15.

Who among the following is not one of the co-authors of the book “Critical
Criminology” ?
(A) L Taylor (B) G. Trasler (@)

P. Walton (D) J. Young

Who among the following reformulated the Differential Association theory into
Differential Reinforcement theory ?

(A) CR. Jetfery (B) P.Jenkings (C) T.M. Jones (D) V. Jupp
Match the items in List-I with the items in List-II and select your answer using codes
below :

List-1 List-I1

(a) Capital punishment (i)  Pretrial release

(b) Probation (i) Execution of the Criminal
() Bail (iii) Detention without trial
(d) Preventive Detention (iv) Conditional release
Codes

@ ® © @

(A) (@) (D) (v) (i)
(B) @) (v) () (i)
(© @) @Gv) @ (@)
(D) Gv) @) (D) (i)

Match the items in List-I with the items in List-II and select your answer using codes
below :

List-I List-I1
(a) White Collar Crime (i) Hacking
(b) Narco Terrorism (ii) Corruption
(c) Cyber Crime (iii) Columbia
(d) Organised Crime (iv) Dawood Ibrahim

(@ ® (o (@)

(A) @) () @) @)
(B) @) @) (v) (i)
© @ (v) @) (i)
(D) Gv) (D) @) ()

Which committee considered for the first time that children should be tried through a
different justice system ?
(A) All India Committee on Jail Reforms

(B) All India Jails Committee

(C) Model Prison Manual Committee

(D) V.K. Krishna Iyer Committee on Women Prisoners
Who related crimes in terms of Social Class Conflict ?

(A) Karl Marx (B) William Bonger
(C) Frank Tannenbaum (D) Donald Cressey
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16.

17.

18.

19.

20.

The first chairman of the Law Commission of India was :
(A) Lord Williams (B) Warren Hastings
(C) Lord Macaulay (D) Lord Clive

Which state in the country has the highest number of open prisons ?
(A) Uttar Pradesh (B) Rajasthan
(C©) Gujarat (D) Delhi

The central theme of which theory is ‘Criminal behaviour is Learned ?
(A) Theory of imitation (B) Theory of Differential association
(C) Control theory (D) Labelling theory

Match the items in the List-I with the items in the List-II and select your answer
using codes below :

List-1 List-11
(a) Rarest of the rare cases (i) Sampurnanand
(b) Onus of the proof is on the accused (i) Congnizable offences
(c) DPolice can arrest with a warrant (iii) Inquisitorial system
(d) Open prisons (iv) Capital punishment
Codes :

(@ (b () (@
(A) Gv) () @) ()
(B) @ (@) 3§ @)
(© Gv) (@) ()
(D) @) (D) (@Gv) @)

Match the items in List-I with the items in List-II and select your answer using codes
below :

List-1 List-I1

(a) Albert Cohen (i) Institutional anomie theory
(b)  Travis Hirschi (i) Environmental criminology
() AM. Guerry (iii) Control theory

(d) Messner and Rosenfeld (iv) Delinquent sub culture

(A) @) () (@Gv) @)
(B) @) (@v) @) @)
(© Gv) (@) G @)
(D) @) () @) @Gv)



16.

17.

18.

19.
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21.

22.

23.

24.

25.

26.

Match the items in List-I with the items in List-II and select your answer using codes
below :

List-1 List-11
(a) Victimology (i)  Rarest of rare cases
(b)  Control group (i) NCRB
(c) Collection of crime statistics (iii) John Mendelsohn
(d) Capital punishment (iv) Experimental design
Codes :

(@ @ (o @
(A) (@v) @) @) @
(B) (@) @v) @) @
© @ @) @) (@v)
(D) (@) (i) (@v) @

Child Welfare Committee deals with :
(A) Neglected children (B) Delinquent children
(C) Physically challenged children (D) Young offenders

The U.N. Declaration on the Basic Principles of Justice for Victims of Crime and Abuse
of Power was adopted by the United Nations in the year :

(A) 1955 (B) 1975 (C) 1985 (D) 1990

Whose name among the following is closely associated with the setting up of open
prisons in India ?

(A) Lok Nayak Jaya Prakash Narayan (B) Sampurnanand
(C) Sri. HM. Bahuguna (D) Mahatma Gandhi

Parole refers to :

(A) Suspension of sentence by the court

(B) Release from the jail after serving some sentence
(C) Granting better remission of sentence to prisoners
(D) Sending the offenders from close prisons to open prisons

What is the correct chronological order of the following ?

(A) Apprentice Act, Reformatory School Act, Children Act, Juvenile Justice Act

B) Children Act, Reformatory School Act, Apprentice Act, Juvenile Justice Act
) Apprentice Act, Juvenile Justice Act, Children Act, Reformatory School Act

D) Reformatory School Act, Apprentice Act, Juvenile Justice Act, Children Act
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27.

28.

29.

30.

31.

32.

Which of the following personalities belong to cartographic school of criminology ?
(i) E.H. Sutherland

(i) Robert K. Merton

(iii) Adolph Quetlet

(iv) A.M. Guerray

Codes :

(A) (i) and (ii) are correct
(B) (ii) and (iv) are correct
(C) (iii) and (iv) are correct
(D) (i) and (iv) are correct

Which among the following is the correct sequence ?
(A) Attachment, Commitment, Belief, Involvement
(B) Commitment, Involvement, Belief, Attachment
(C) Attachment, Commitment, Involvement, Belief
(D) Involvement, Belief, Commitment, Attachment

Which among the following is the correct sequence ?
(A) Innovation, Ritualism, Retreatism, Conformity

(B) Ritualism, Retreatism, Innovation, Conformity

(C) Conformity, Innovation, Ritualism, Retreatism

(D) Retreatism, Innovation, Ritualism, Conformity

Assertion (A) Poverty is an accentuating factor for Crime.

Reason (R) : Poverty is not the cause for all crimes.

(A) (A)is true (B) (R) is true

(C) (R)is false (D) Both (A) and (R) are true
Assertion (A) It is very difficult to identify a single factor for human trafficking.
Reason (R) : Sex Tourism is one of the factors for human trafficking.
(A) Both (A) and (R) are true (B) (A) is true but (R) is false

(C©)  (R) is true but (A) is false (D) Both (A) and (R) are false

What is the correct chronological order of the following ?

(A) Universal Declaration of Human Right, UN Declaration on the Basic Principles
of Justice for Victims of Crime and Abuse of Power, UN Standard Minimum
Rules for the Treatment of Prisoners, UN Convention of the Rights of the Child.

(B) Universal Declaration of Human Right, UN Standard Minimum Rules for the
Treatment of Prisoners, UN Declaration on the Basic Principles of Justice for
Victims of Crime and Abuse of Power, UN Convention on the Rights of the Child.

(C) UN Convention on the Rights of the Child, UN Standard Minimum Rules for the
Treatment of Prisoners, UN Declaration on the Basic Principles of Justice for the
Victims of Crime and Abuse of Power, Universal Declaration of Human Rights.

(D) UN Declaration on the Basic Principles of Justice for the Victims of Crime and
Abuse of Power, UN Standard Minimum Rules for the Treatment of Prisoners,
UN Convention on the Rights of the Child, Universal Declaration of Human Right.
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33.

34.

35.

36.

37.

38.

39.

40.

41.

Read the following passage and answer the question no. 33 to 38 :

An estimated, 2,25,000 victims are trafficked from South East Asia annually
according to the US Department of Justice. The growth of sex tourism in this region is
one of the main contributing factors for the large scale child prostitution that occurs in
many countries. Thailand, Cambodia and the Philippines are popular travel destinations
for sex tourism including pedophiles from Europe, North America, Japan and Australia.
Japan is the largest market for Asian Women trafficked for sex, where 1,50,000 non
Japanese women are involved.

According to the above paragraph the main contributing factor for trafficking is :
(A) Unemployment (B) Poverty
(C) Gender discrimination (D) Sex tourism

The demand for supply of women is more for :
(A) North America (B) Japan (C) Europe (D) Cambodia

Which among the following is not the main travel destination for sex tourism ?
(A) Thailand (B) Cambodia (C) Taiwan (D) Philippines

In which country Non-Japanese women are preferred ?
(A) North America (B) Australia (C) Cambodia (D) Japan

According to the above paragraph from where more victims are trafficked ?
(A) Japan (B) South East Asia
(C) North America (D) Australia

Which among the following is not popular travel destination for sex tourism ?
(A) Thailand (B) Cambodia
(C) Japan (D) Philippines

Which among the following is correct ?
(A) Police can grant bail (B) Police cannot grant bail
(C) Court alone can grant bail (D) None of them is correct

Capital punishment is awarded in :
(A) Serious offences (B) Offences against women
(C) Offences against elders (D) Rarest among rare offences

Which among the following is the correct sequence ?

(A) Maintenance of Law and Order, Detection of Crime, Prevention of Crime
(B) Detection of Crime, Prevention of Crime, Maintenance of Law and Order
(C) Maintenance of Law and Order, Prevention of Crime, Detection of Crime
(D) Prevention of Crime, Detection of Crime, Maintenance of Law and Order

D —6808 12
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35.

36.
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39.

40.
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(A) SRISTRI (B) fAgan (C) Tfeim 4gwE (D) A T
ferdl st eqfd & ford Wi el eifere §72

(A) I eHfER (B) SUH (C) (D) wEIfEam
Frefafea & @ o 99 wded & fod ge ymor T 718 &2

(A) orEdie (B) TEITEA (C) dm=aMd (D) fwferars=a
for <o o T STar forai S9er ge @t S § 2

(A) T8 mHfER (B) aArEfern (C) ww=Ifea (D) S
ST IN=RE % STTER Sclifedl ohi T8 e el ¥ Bl © 2

(A) ST (B) <fu-gat R (C) Tl TR (D)  aArefern
I g o fTd I YHO TIed AR id TE © 2

(A) IEAS (B) wrEifeAl (C) UM (D) fweiae—w
feAda s T g2

(A) TfeTd SHFA < Tehelt 2| (B) YfeTd S & < Wehell |

(C) I I THMT < Tkl | (D) 9% H 4 #E Tl Tl T

g << o frafq o fean sman 22

(A) TR STaaY (B) T & foeg sy

(C) T[T & fowg 3o (D) foXet ool # faeraw
HITET & SATHA T2

(A) I Ta SHAEAT 1 T@-T@ME, STIY T 3TOHU, 3THRTY i M |
(B) 31U STAYY, 3G hi Yk, T ol e Sl TW-T&Md |
(C) A TS HIEI ol TE-T@ME, ATY il YKAM, STIUY HT ST |
(D)  3T9Y i YR, STIY ST, ST 6 el FHl E@-EM |
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42.

43.

44.

45.

46.

47.

48.

49.

50.

Assertion (A) The Role of the Police is to provide before the courts all the
available evidence so that the court may decide.

Reason (R) : The police are not the arbiters of guilt and innocence.
(A) (A) is true but (R) is false (B) (R) is true but (A) is false
(C) Both (A) and (R) are true (D) Both (A) and (R) are false

Scope of Criminology includes :
(A) Making of Laws

(B) Breaking of Laws

(C) Reaction towards breaking of Laws

(D) All the above

Consideration of Probation is necessary for :

(A) First offender (B) Second offender
(C) Habitual offender (D) Young offender

In which offence inquisitorial system of justice is applied in India ?
(A) Murder (B) Theft (C) Terrorism (D) Rape

Status offenders refers to :
(A) Delinquents (B) Adolescents in the prison
(C) Political offenders (D) White Collar Criminals

Which among the following is not meant for dealing with delinquents ?
(A) Juvenile Home (B) Special Home
(C) Observation Home (D) Juvenile Justice Board

A Hypothesis is :
(A) A concept (B) A theory
(C) An observation (D) A tentative generalisation

If change in one variable brings about a corresponding change in the same direction in
another variable, it is called :

(A) Association (B) Deviation
(C) Regression (D) Correlation

Borstal School is for treatment of :
(A) Children in conflict with law (B) Adolescent offenders
(C) Adult offenders (D) Habitual offenders

-00o0-
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43.

44.

45.

46.

47.

48.

49.

50.

sftwem (A)  : gferm Y ofie I % THe TR IUCTS YHIV <A1 § @Ifeh e fofa

T T |
T (R) . s sTory ay SR FRiW 81 % faarae & 2l §
(A) (A) 99 W (R) 39 T (B) (R) ¥ T T (A) 39 T |
(C) (A) 3R (R) THi I T | (D) (A) 3R (R) THI 3189 |
ST WA o &5 H wie 2
(A) T S (B) T e
(C) I dred & gfd gfdfean (D) 39 9+t |

11 & ford afteten W faam wE strevas T
(A) TUH LT (B) fgdt@ stquell  (C) oF=a& Ul (D) g AU

IRd H, fhg STy § = sl wiefonedes Joelt okl STUERT fhar S 2

(A) A (B) = (C) 3Td%aR (D) SRR
w2g sithety frgst Hhd <3 2
(A) foreiR eTauedt (B) SRR # ferein
(C) SHfaes SToredt (D) EhSUIT STOUE
frefafed #§ @ S fReR sttt 9 frees & faa ==& g2
(A) freiR & (B) faeTE
(C) &I T ( AeSIaNH 2M) (D) oA =™ e |
Teh YRehea T & |
(A) T ¥ROT (B) T fagm
(C) TH ik (D) T 3THITH HHHT
Ffg Tk =X H IRadd 81 9 S =R H Sk o1 & afked St feen # 2ar € df 39 el S 7
(A) WETE (B) ferwre (C) gfdm= (D) ¥ W=
e foranmer foreh SUeR & ford §2
(A) A % Y HoY W g (B) TR srquEd
(C) i Tt (D) TR IR
-00o0-
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